= o
A 2 0l & A &2 & Al A
20219 &= =0lat LBt &3
fN: 23
M Hols2el
Cel: MEHIsHel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
& 24,179,751 23,191,896 987,855
= 6,006,063
< 1,535,724
Al 16,637,964
HIlI=2el 9,727,041 9,678,382 48,659
= 1,255,330
< 238,360
Al 8,233,351
MetH I 2Hel 7,364,340 7,706,781 A 342,441
= 159,500
< 238,360
Al 6,966,480
MYDISEH2S 236,310 242,570 A6,260
201 YEt2 bl 215,976 215,936 40
01 At 22l 24,120 24,080 40
OB =+=EH| 18,600
o FAXA MY II=017] 25 F&
1,875,000 1,875
o MEE=H & S A ==&
650,000& 650
o MYD|l SYEI| otLHE M
223,600 2574 5,590
od EES ML ¥ HUHE MH
1,210,000 1,210
o M) EHEI MY 22 2 MH
56,000& *300H 1,680
o MgJ 2YEI HE AEH MH
1,000& *9300H 930
o JtA A A2tMy D 2al sE22 MF
1,910,000 1,910
o MgJ| AHAESE Y SAESF HI=S ER
2SS A HEXE ME 10,0003 47K A 470
o SAESF HIIS LMAN & 4,285
=E 55,870& =400H 2,235
-t =2 930,000& 930
-82 560,000& 560
- AEA 560,000& 560
0248+ 560
o SA=SF HII=2 &I 23 =€
70,0003 +x8H 560
O=&tl 4,960
o =EUHEZ2S =& 930,000& 930
o Ml SEHM FRFA 930,000& 930
o FAXA MYII=017] 25 F&
190,000& 190
o HHEHAMAHZE FRFZ 930,000& 930
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= o
A & 0 & 2 & Al
2ots | &F
HOI2Xeal (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o0 BAE2F HIS=+H ZRFA
1,460,000 1,460
0 BAZRF HIIS OF2UHSE FRFA
520,000& 520
02 =224l 191,856 191,856 0
OZZ23LHA 9,690,000 9,690
OAl & ZEHl S Xl 1,806,000 1,806
O Xt & B 180,360, 000& 180,360
3,634 3,634 0
01 = LH o4 1l 3,634 3,634 0
OMgDl SEH 2= 3,634,000 3,634
206 M= Hl 16,700 23,000 A 6,300
01 =8l 16,700 23,000 A 6,300
OBASF HIIZ2 EJNSEAM 9,700
£IEE PY(DLSFL, LA0 S)
1,000, 000& 1,000
HEZS MA(EHME) 5,700
- 52l H 403 +30,000H 1,200
- 102l & 50& 30,0004 1,500
- 602 & 50& +30, 0004 1,500
- 12021 & 50& *30, 0004 1,500
HAXNNEE S4=E2 HdEEI| 78
60,000 504 3,000
2E2e10 #=20t0 7,000 *1,00004 7,000
o =Nl ALY 2,731,799 2,449,826 281,973
gl 112,425 134,425 222,000
MZ2Z2ASE+ 112,425 134,425 A 22,000
T ZAMEE 2ARE 34,425
== 69,7603 x1H 22«12 18,417
+2(5L22 S) L 4022
11,696, 000& 11,696
EI&= 4,311,870 4,312
H & s O elAd| 78,000,000& 78,000
23l 253,220 249,950 3,270
AtS 22l 23,070 9,770 13,300
OB =+=EH| 17,230
o BAWH JRFZ 1,860,000& 1,860
0o BAXY HANE UL TA £482
1,300, 000& 1,300
IEHHUSS S 2 28 #40
50,000& x10& 500
AT PROts MBIl 2elliE FUER
4703 =1,0000H 470




S 23HD
M. HOIS2el
el MEHIISHR (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
o HASI &KX 2,000& 50074 1,000
o HEHIIZ & AEIH M
3502 %10, 0000H 3,500
o BZ0ISE ot 824 2,300,000 2,300
o EH0ISE BAHAL 24 2,300,000& 2,300
o BZ0ISE /Y Ot 2,000,000 2,000
o EtE0ISA 222 K2 BIH
2,000,000 2,000
O=2&Y| 4,740
o A PRFX 2,790,000 2,790
o AXHI=S MM E2=F&A
1,300,000& 1,300
o MYJ| EYED O dR2FA
650,000& 650
[ PRINE= 1,100
o EXIHIIZS =HEH LX 550,000 *23| 1,100
02 3s2g4| 226,150 236, 180 A 10,030
OZ2Z222L A 30,070,000& 30,070
O =H| 5,010,000 5,010
OAEEH S XY 9,000,000 9,000
O Xt & Bk 182,070,000& 182,070
03 S AIS H H| 4,000 4,000 0
O=30I133 N=sU3 4,000,000 4,000
202 (4] 4,061 4,061 0
01 2L Y| 4,061 4,061 0
OMEMYIIH2 HRFX 4,061,000& 4,061
206 M= Hl 233,790 198,390 35,400
01 X2t 233,790 198,390 35,400
OMYD| REEE M (HMHS+24323) 124,100
o 52l H 263 x50, 00004 1,300
o 102l & 38& *50,0000H 1,900
o 202 Ef 63 & *300,0000H 18,900
o0 20ClEH(MHAtEEE) 70-& =400, 0000H 28,000
o 502! Ef 138& *500, 0000H 69,000
o /XY MAOI™ M A 10& *500, 000 0H 5,000
OS2 MY D0 MZE(BHE) 11,600
o0 202l & 350& x20,0000H 7,000
o 502! & 4603 %10, 0000H 4,600
OMYI I RZEEE HH(B2E) 21,550
o 202 & 633 *50,0000H 3,150
o 502| & 138& *100, 0000H 13,800
o O & &502I & 460& =10, 0000H 4,600




2M: 33
Mz @Ol
Ce: MEHI2Xel (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
O20|138 L C2 3 AN 25 21,240
o EctAE A 6,000 *70H =24 840
o &g 600 *70H 20 &l 12 10,080
o EQXNHEE BHAM(ES)
20 *180,000& x12& 4,320
o EYXNEE BHA(ZES)
20 *250,000 x12& 6,000
OH=2Y =0t H = 1,200 *8,0000H 9,600
OLLS ZEANY 223 7Y
1,500,000 1958 = 28,500
OO0I0| AT D1 OFCH A& 4602 =10, 0000H 4,600
OO0 AH DNEt SHEH =& HE
632 *200, 0000H 12,600
301 et A = 33,000 23,000 10,000
12 JIEtE2 A= 33,000 3,000 30,000
OSHSI| & A2 MR TN3
3,000,000& 3,000
Olls2g) =2HEAS(XHA) 30,000,000 30,000
307 QI2t0| ™ 1,624,000 1,320,000 304,000
05 QIZtREZ 1,624,000 1,320,000 304,000
O MY D Held Bt 20 Hol2 Hel
260,000 x4, 200= 1,092,000
O, A2 SXMAHD] ™Hel
260,000€ x1,200= 312,000
OMBI2X Y =HMYD Hel 220,000,000& 220,000
308 XAHXIEHSOlIA 222,503 205,000 17,503
07 AIXSHH2AESSZ2 156,008 205,000 N 48,992
OMEHII= A2 B2 156,008
o AAMY DI BE2
10,000, 000kg*1.023*x10& 102,300
o DHE M DI BE=2
3,500,000kgx1.023*15& 53,708
12 JIEIE Y= 66,495 0 66,495
OMZEHIIS A BEE4=2(A2)
,500,000kgx1.023*10& 66,495
401 AlEHIZL 2 0HY| 25,000 25,000 0
01 Al&EH| 25,000 25,000 0
ORHED| & X 8A &AX 5,000,000 =54 A 25,000
405 XHA&HF S HI 223,800 290,000 AN 66,200
01 XAt = ZEF S HI 223,800 290,000 N 66,200
HAXE 2l 90,000
0 3.5 MEMY I =) XH(AF)
90,000,000 = 1CH 90,000
OIS dEEA H& 20,000,000 *5CH 100,000
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SH 230
M HOI2He
Cel: MEHIsHel (cho &)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O ZE 2 300,000 = 1004 30,000
OotoI A =18 2¢ 200,000& 197K 3,800
HEE ALY 552,417 565,600 A 13,183
101 @124l 125,840 125,840 0
04 JIZHHZ2Z2XNHESE S+ 125,840 125,840 0
OES HdE ARAS 125,840
o Al 130,000 x4 «22 114 & 125,840
201 Let24d] 82,977 72,160 10,817
01 AP 2teltl 20,131 19,344 787
OEIETR= 48] 19,351
oMBE NEN 29 PRRI 979,000 979
oMEE HEH FHEY +42
186,250& 128 2,235
o &= d8H M)|etdze HH=
417,230 124 5,007
oMEE HEH NHE =T 2482
530,000& »23] 1,060
OMEBE HEE LHAM FIGHAN +4
= 930, 000& *23] 1,860
oMEE HdEY AgorMae HAHZH
4,000,000& 4,000
o HZ2U HEIIZEAM =2 530,000& x13] 530
0SA2 £NNY S NSHTAN 248
33,0002 »10CH 330
o SAS MJ EE2SE E HEE X))
ME E2HE ME 1,490,000 1,490
o 4TINS B8 HMZE 186,000 104 1,860
0284 780
o RMEE EAM = 780,000& 780
02 =224l 62,846 52,816 10,030
O==22a=aZ A A 35,260,000 35,260
OA=H| 9,210,000& 9,210
OAEZHI S 12,530, 000& 12,530
O Xt & B 5,846,000 5,846
206 M= Hl 24,600 24,600 0
01 =8l 24,600 24,600 0
ONEE8 g€ 23 e + 15,600
oMEE HEY FHEH ASASE
3,000,000& 3,000
o RolEE =W 2,200,000 2,200
o HEHEZ EW 2,200,000& 2,200
o DE&HZ 1,200,000 1,200
o OrA3 1,000, 000& 1,000
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2M: 83
M Hols2el
Cel: MEHIsHel (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o MEEg dZetel FE2&)| EEsS
2,000,000% =14 2,000
o AEJIN ¥ ANELEH FSF
50,000& 40 2,000
o HEIN U AETY R2IA
50,000& x10= 500
o BYI 2 wE 500,000& 500
o JIARSE ¥ A& & F#Y 1,000, 000& 1,000
OMEaEg dE8F AJIEZH SEHONH ¢
300,000& *4J4 13| 1,200
OAJEZ2H HAY 2L 300, 000 »2JH4 600
OAJIEZH & 7Y 200,000& =44 800
ONgs dEg&ay o2 Madl (2,0t23)
1,000,000 1,000
OHEZ2E & AHX =HE  180,000& 304 5,400
307 i+l & 110,000 110,000 0
05 RIZtE = 110,000 110,000 0
OHII7R8 S HWEHIIZS Mel
220,000 500 110,000
401 A& HIZ 201 Y] 170,000 170,000 0
01 A& HI 170,000 170,000 0
OLHD] 2 WX 30,000,000& #2271 60,000
OLt#Il == WH 20,000,000& *27| 40,000
OstEA el22d ZA 20,000,000& 20,000
ONES dg8X dgetel (M0 S)E+
25,000,000 »24! 50,000
405 RHoHE S HI 39,000 63,000 224,000
01 AL EFSFHSHI 39,000 63,000 224,000
OZNSHEARI FU(AUL SHS)
3,000,000& = 10CH 30,000
ORANMEEMAHI L (SHS)
1,000, 000& *9CH 9,000
YSHUY 2HBH2 IR (2X) 170,000 168,324 1,676
= 17,000
< 17,000
Al 136,000
301 LBEAS 170,000 168,324 1,676
= 17,000
< 17,000
Al 136,000
12 JIEE4 3 170,000 168,324 1,676
OZsHblE =H124= N&  170,000,000& 170,000
= 17,000
< 17,000
Al 136,000




A
© H

el

X ZH
S =

mwg o

=
=

AH
(=

ot
szel

HII=Xel

SA -

Ha - el (3H) -

N2 A

01
o

Off &t 24

=

i
2m

SHEGHA M I E ALY (2

=)

= N H

128,571
90,000
12,857
25,714

128,

571

S
e
[
==

= N H

104,571
73,200
10,457
20,914

105,

571

A 1,000

04 DIZtHZ22 s+

Oot=2 40| 5

H HMel At

104,571,000&

= N H

104,571
104,571

73,200
10,457
20,914

105,

571

A 1,000

201 2Bt Yl

= Hn W

3,000
2,100
300
600

,000

1,000

01 AR 2tel
%

[u}
didl==H MelAtg

3,000,000

= MW

3,000
3,000
3,000

2,100
300
600

,000

1,000

202 o4 Hl

= MW

2,000
1,400
200
400

,000

1,000

0

g

=LH O Hi

Oot2 &¢I+ XeclAe

2,000,000

= N H

2,000

2,000
1,400
200
400

,000

A 1,000

307 21201 ™

= N H

19,000

13,300
1,900
3,800

,000

1,000

05 It & =3

19,000, 000&

= HnH

19,000
19,000

13,300
1,900
3,800

,000

1,000

H

Al

25,000

7,500
17,500

32,

500

AT,500

401 AIEHIZ 2 THHI

H

Al

25,000

7,500
17,500

32,

500

AT,500




2N
X ZH -
L= B

el

= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
01 A& HI 25,000 32,500 AT,500
OZsHblE SsToE &5 NFAY
5,000,000 *5H 2 25,000
= 7,500
Al 17,500
dOIRHEHTA 228 SAMS (HESAY)(EX 9,480 15,000 A5,520
< 4,740
Al 4,740
405 TtabF S| 9,480 15,000 25,520
< 4,740
Al 4,740
01 AL EFH S 9,480 15,000 25,520
OoXddl 2HEI| 2Al 0ls4 CCTV & X
9,480,000& 9,480
< 4,740
Al 4,740
SMNEXE 29 1,959,491 2,026,677 AB7,186
201 et 317,351 327,017 A 9,666
01 At 22l 26,891 16,557 10,334
OB ==EH| 19,983
o BA2 HMelAld gRF2 650,000& 650
0 SAZ2 HENE RUBHBY 242
170,000 1200 & 2,040
0 SAZ HM2AE HItH 2|
884,000& 1271 & 10,608
0 SAS HM2ANE 228 FL(SFEX, MY
a4 88 8) 950,000& 950
0 SAS HM2AAE HEIEE =2
1,140,000& 13l 1,140
0 SAE HRlA& FIIAA +4E
2,370,000 x13] 2,370
0SS S8R Y B4 FEAA 4
(=3 570,000& * 13/ 570
0SA2 HIUANL HYBAEH 242
850,000& x13] 850
o0 SA2 HMelAld SO0IAE otE P A
805,000& *13] 805
01l =t 1,500
0 SA2 HIUANE 22X M= L A
500,000& »3H 1,500
O=&tl 1,728
0 SAZ WERAL X=X
8,000 «3H 62«12 = 1,728
{ DREN= 3,680
o sS4l HMelAld =1 Ul
123,330 128 1,480
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fN: 23
M HOI=22e
Cel: MEHIsHel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
CSANENNE NS 2 @ AdE =&
EER=DN; 2,200,000& x13] 2,200
02 =224l 290,460 310,460 A 20,000
OC233BLAA 197,120
oaxTERS 4,295,000 4,295
o MIIe3 192,825,000& 192,825
OA =l 9,340,000 9,340
OAN&EHl S Xl 7,000,000& 1201 & 84,000
206 M= Hl 101,760 101,760 0
01 =8l 101,760 101,760 0
0S42 HelNE Yo, AS%E 29
10,000& *202| H x30= 6,000
OSAEF HII= &8 s ¢
75,0003 *x3E 300 67,500
O34 2 NEAE 2235 +2 18,060
o MIIXI 7L 100,000& »10Z *33| 3,000
o & 7¢ 6003 x6H «25J 1200 & 1,080
o #ga= R 6,000& «6E 104« 1204 & 4,320
o OtA=3 2¢ 1,200 «6H x25J4 « 1201 = 2,160
o EZALE 2¢ 20, 000& x20JH 53| 2,000
0 JIAHESE 29 ¥ F2lA 7Y
150,000& 30 4,500
0 AMEE Y (MHA S) 1,000, 000& 1,000
0SA2 HeNE Hes 2H 2
50,000& *17kg* 1271 & 10,200
207 A RO H| 210,000 159,400 50,600
03 A& & 24l 210,000 159,400 50,600
0SA2 HelNe BsaHelg AEPY
210,000, 000& 210,000
307 glz2+ol & 318,000 453,000 A 135,000
05 RIZt2E = 318,000 453,000 A 135,000
OSAER HII2 A (LS4 E)
150,000& *30&E » 15 67,500
OSAER HII2 AH(FL . EHM)
76,500,000 76,500
OS4SR HIIS =X H™eldl
150,000, 000& 150,000
OEZE A (MHSH BLEI HIIE)
300,000& *80& 24,000
401 Al HIZ 201 Y] 983,380 905,000 78,380
01 A& HI 983,380 899, 960 83,420
OC-=FZHl HSA 800,000,000& 800,000
OSASXMeld HAXMeANE EXAY
143,380, 000& 143,380
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2N
X ZH -
L= B
el

3
oIS 2e
42 H IS X

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSZ PSS LED M S A 500,000& *404! 20,000
O+clAa s FI| & 5,000,000 x4 4! 20,000
405 XHobF S HI 29,000 80,500 251,500
01 AR ESFH S 29,000 80,500 A51,500
ElH 0158 2E=A 7Y
10,000, 000& »2CH 20,000
oOZs) 257 7¢ 2,000,000% »2CH 4,000
O3SH= 0/SEZ(WA) 2,500,000& =2CH 5,000
e (ALE) 2 1,038,728 1,685,313 A 646,585
201 Let24E] 13,728 16,313 A 2,585
01 At 22l 7,655 10,240 22,585
O E=EH| 2,655
o ZYEHE =UXNFEAM £Z3 Mz
190, 000& *4 3| 760
o NEEZ MMEAE SM==2
94,7503 x204 2 x103] 1,895
[ DN = 5,000
oANEESE MHEAME F=+Hcl X
5,000,000& 5,000
02 2524l 6,073 6,073 0
OZ=22=aZ A A 2,335,000 2,335
OAEZHI S 3,738,000& 3,738
308 XXM SOIA 1,000,000 1,000,000 0
07 IXNSHH2AURE = 1,000,000 1,000,000 0
OZAMYI| HEH L 42T 2YRLI
1,000,000,000& 1,000,000
401 Al HIL ROl 25,000 25,000 0
01 A& HI 25,000 25,000 0
OMEESE HEE &+ MEX & 2 i
A 5,000,000& 5,000
OSHUMNESE HEH sl (L)
20,000,000 » 14! 20,000
MEHII2 HEWSAL 8% AY(2X) 60,000 100,000 40,000
< 18,000
Al 42,000
401 Al HIZ 201 I 60,000 100,000 A 40,000
< 18,000
Al 42,000
01 A& HI 60,000 100,000 A 40,000
OMEHIIZ2 HE HHEANE £X X
4J4 215,000, 000& 60,000
< 18,000
Al 42,000




2M: 33
mu: Hol2ee
Ce: MEHI2Xel (2 &HH)
4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
HEE 22} HIIS Ml N (EX) 210,000 169,048 40,952
== 63,000
Al 147,000
307 2Iz2t0| A 210,000 169,048 40,952
o= 63,000
Al 147,000
05 QIZ2tR EF 2 210,000 169,048 40,952
OMEE 2 HIl= MelX&d
700& *x300, 000 210,000
< 63,000
Al 147,000
a2 s4H0te X KN A (EX) 90,000 75,000 15,000
= 45,000
Al 45,000
401 Al EHI L 204 HI 90,000 75,000 15,000
= 45,000
Al 45,000
| & Hl 90,000 75,000 15,000
ONeE HIOIE & X 90,000,000 90,000
= 45,000
Al 45,000
sordly AD{8AH KA (BX) 36,306 38,428 N2,122
& 10,892
Al 25,414
301 et A= 36,306 38,428 N2,122
& 10,892
Al 25,414
12 JIEtE2 A= 36,306 38,428 N2,122
O 8Y &1 Ba=2 36,306,000 36,306
= 10,892
Al 25,414
MY EINZAN(NHYSSZ0IE0)(2X) 110,000 0 110,000
= 110,000
405 XHoHFE S HI 110,000 0 110,000
& 110,000
01 XA 2B F S| 110,000 0 110,000
OMYIISYEED 2Al 0lS4A CCTV 7Y
110,000,000 110,000
= 110,000
HE2E =T HMEE U PE2E JHA(EX) 6,238 0 6,238
& 1,871
Al 4,367
201 et | 6,238 0 6,238
& 1,871
Al 4,367




SH 230
M HOI2He
Cel: MEHIsHel (cho &)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 6,238 0 6,238
OBt~ 6,238
oMEES =& HMEE XNF 238,000& 238
< 71
Al 167
oMEESE =1 W23 N 6,000,000& 6,000
< 1,800
Al 4,200
MSEEHIIS2e 2,362,701 1,971,601 391,100
= 1,095,830
Al 1,266,871
HOISALS &2t 107,681 114,466 A6,785
201 L2l 21,981 28,636 NB,655
01 At 22l 16,865 19,520 A 2,655
OLe==EH| 6,365
o HJII=Z AMIE 2el FFF&  1,530,000& 1,530
o HJI2 g% ZA 2,000,000& 2,000
o HJII= &P A 2AFHA A 30,5003 +102] 305
o HJIZS 22EE MRES 7Y
1,530,000& 1,530
o &4H ZLIHY AIAE HZHAM
1,000, 000& 1,000
Ol =t 900
o HJIE HMlgd e@ss(&s6te) 2
900,0002 900
o3l 1,570
0 HIIE 28 S)jgs Yo
1,570,000 1,570
[ DN = 8,030
o HJI= OHE =Q &l 28X 1,530,000& 1,530
0OSEANBTE LA AP AT AT
6,500,000 6,500
02 =224l 5,116 9,116 A 4,000
OAN&EHl S Xl 3,116
o &4F ZLIHE AMAE SX2el
93,000& 1201 & 1,116
o &H ZLUIHE MdA i WA
500, 000& =44 2,000
OXtE et (At 2 XHE) 2,000,000& 2,000
202 4l 1,200 1,330 A 130
01 = LH YI 1,200 1,330 A130
OMEZE HIIS2e2 R 1,200,000& 1,200
206 M= Hl 4,500 4,500 0
01 M2l 4,500 4,500 0




2AM: 283
J

X Hols2el
Selr ASEHOI=S 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANZE HIIS =ZZA Mg 2
5,000& 2004 1,000
OHEHIIE NES ¢ 10, 000& = 1004 1,000
OHJIZ AT SHEZH g
50,000& 504 2,500
307 21201 A 80,000 80,000 0
05 RIZt2IE = 80,000 80,000 0
OYgX HIISHe (AME L NFHIIS S)
500,000& »160& 80,000
A H I =S 2el 63,360 7,265 56,095
201 Let24E] 7,460 6,030 1,430
01 At 22l 7,460 5,100 2,360
OLe==EH| 4,660
od4 HJIIZ2 Melg oot & NEEH g2
= 1,660,000 1,660
o =EEA X HEEMN 2FE A
1,000,000& =33l 3,000
oSzl 1,150
oM HII2TY OFI} L HEYD F7
1,150,000& 1,150
[ DN = 1,650
od& HJII=2 =YHIMHE = FH Xt
1,650,000& 1,650
202 (44l 900 1,235 A 335
01 SLHOYI 900 1,235 A 335
OZ& Hol=2e gRFaH 900,000 900
307 2201 A 55,000 0 55,000
05 BIZHRI & 3 55,000 0 55,000
O HIISHM2(ALHIIE S)
55,000& x1,000& 55,000
SdI0lE H2XNA(EX) 2,191,660 1,425,040 766,620
= 1,095,830
Al 1,095,830
402 RI2HXt20l ™ 2,191,660 1,425,040 766,620
= 1,095,830
Al 1,095,830
03 212t &AL S HI 2,191,660 1,425,040 766,620
O=diOIE HelXl& 2,173,660,000& 2,173,660
= 1,086,830
Al 1,086,830
O£dI0IE AEHZ AL 18,000, 000& 18,000
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